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No ( )
1 1 2 33 S 4 S 5

2 9 19 1.2 1.8

3 10 6 S 2 S 3

4 2 |13 S 5 S 6

5 0] 2.18 [112],[112], [110] [221].[221]).[110]

6 30 13 /6 G/6

7 3 51 4.1 (10% 103 (10%,10%10%,10°,10%,107,10%)
8 4 | (4.5) fL= fo=

9 54 | (4.6) fo= =

10 54 | (4.7) fo/f = flfs=

11 58 6 o (CE%)+  (CF%) o (PE%)+  (PF%)
12 62 26 a(Ni-5.65%Cu), 6(Ni-52.5%Cu), L(Ni-33.2%Cu) a(Al-5.65%Cu), 6(Al-52.5%Cu), L(Al-33.2%Cu)
13 68 5.12 (@) (b) (b) (a)

14 | 6 | 86 8 6.14 6.15

15 98 8 F=¢c Ym A, IlogR F=¢c Ym A log
16 98 13 (A) 64mm? (A) 50.24mm?
17 98 14 r=Ay/A;=20 r=Ay/A;=25

18 | 13 | 160 3 A 6 s 7

19 182 2 S 4 S 5

20 184 |S 6 (W) (GPa) 32 (W) (GPa) 350
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